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Maclaurins formel

00— O+ Fows @z OO

21 ) x”+O(Xn+1).
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Elementara Maclaurinutvecklingar

X = 1—|—x+X2+§+ +X—+(’)( nLy,
sinx = x—)?i+)j—...+(—1)”—1(2)<:7_1)!+O(X2n+1)’
In(l+x) = x- X; + ’;3 — (—1)"—1%" +O(x",
arctanx = x— );3 + );5 — (-t 2X:7_11 + 0@,

(1+x)* = l4+ax+ <§>x2 + <§>x3 +.+ ((;)x”%— O(x"1),

dar
a\  ala—1) a\  ala—1)(a-2)
2) 2 7 \3) 3!




Vi har att f(x) = e uppfyller f(x) = f/(x) = ... = f(N(x) = X,
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Vi har att f(x) = e uppfyller f(x) = f/(x) = ... = f(N(x) = X,
S& £(0) = f'(0) = ... = F(N(0) = 1.
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Vi har att f(x) = e uppfyller f(x) = f/(x) = ... = f(N(x) = X,
S& £(0) = f'(0) = ... = F(N(0) = 1.

= F) = FO) PO s @2 )

5 p Xn+O(Xn+1)
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Vi har att f(x) = e uppfyller f(x) = f/(x) = ... = f(N(x) = X,
S& £(0) = f'(0) = ... = F(N(0) = 1.
" £(n)
& = F) = FO + O+ A Oy ey
x° x° x" n+1
= 1+X+7+§+...+H+O(X )
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sin x

f( ) = sin x uppfyller f'(x) = cosx, f”(x) = —sinx,
f3)(x) = —cosx, FH(x) =sinx...
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sin x

f(x) = sin x uppfyller f'(x) = cosx, f”(x) = —sinx,
fO)(x) = —cosx, F*(x) =sinx. ..
S& £(0) =0, f/(0) =1, f"(0) =0, F®(0) = -1, F®(0) =0, ...
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sin x

f(x) = sin x uppfyller f'(x) = cosx, f”(x) = —sinx,

fO)(x) = —cosx, F*(x) =sinx. ..
S& £(0) =0, f/(0) =1, f"(0) =0, F®(0) = -1, F®(0) =0, ...
Detta ger
2 £(3) (0
£(0) + f'(0)x + 2(I0)x2 + 3'(0)X3 + 4|( ) 4 + ...

3
=0+ 1x + 0x? —y—i—Ox +.
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sin x

f(x) = sin x uppfyller f'(x) = cosx, f”(x) = —sinx,

fO)(x) = —cosx, F*(x) =sinx. ..
S& f(0) =0, f/(0) =1, f’(0) =0, F®0)=—-1, FD©)=0, ...
Detta ger
f f3)(0 (0
() + FO)x+ e 00 T
2! 3! 4!
3
=0+ 1x+0x° —y—i—Ox +.
Alltsa
] x3 x5 n—1 x2n=1 2n+1
SINX = X — §+7—+(—1) m-‘-@(X )
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